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203 €2 F=&d| 4,200 4,200 0
04 EANSIE LR F=XH| 4,200 4,200 0
OFRMNSI LR 350,000 x12& 4,200
WEESOIH0Aa)(LUSTHE/LBHT) 3,393,801 2,811,962 581,839
WHWEHH K= (&0l AHA!) 3,393,801 2,811,962 581,839
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A2 3 29 3,393,801 2,811,962 581,839

309 ME= 3,393,801 2,811,962 581,839

02 BA- BHPNHE 3,393,801 2,811,962 581,839
OAN&EZ2SE 29 3,393,801,000& 3,393,801

T 2el(odlisl/oelidl) 9,065,836 8,933,959 131,877

odl 51 bl 9,065,836 8,933,959 131,877

ol gl g1 9,065,836 8,933,959 131,877

801 oilHl Bl 9,065,836 8,933,959 131,877

01 ollbl Bl 9,065,836 8,933,959 131,877
©olblyl 9,065,836,000& 9,065,836




